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#Q. Image of a circle about the line 𝟐𝒙 − 𝟑𝒚 + 𝟓 = 𝟎 is 𝒙𝟐 + 𝒚𝟐 − 𝟐𝒙 + 𝟒𝒚 − 𝟒 = 𝟎.

 A line is drawn its centre O parallel to x axis which touch the circle at A. The 

point A lies at the right side of the centre. An arc of angle 𝟔𝟎𝟎 is drawn from 

A to a point (𝜶, 𝜷) on the circle such that 𝜷 < 𝟒. Find the value of 𝜷 − 𝟑𝜶
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#Q. If S be the set of 10 distinct primes and let A be the set of product of two or 

more elements from the set S. If P = { 𝒙, 𝒚 : 𝒙 ∈ 𝑺 𝒂𝒏𝒅 𝒚 ∈ 𝑨 and y is divided 

by 𝒙}. Then n(P) is equal to 
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#Q. If 𝒍 𝒎, 𝒏  = 𝟎׬

𝟏
𝒙𝒎−𝟏 𝟏 − 𝒙 𝒏−𝟏𝒅𝒙, 𝒎, 𝒏 > 𝟎 , then 𝒍 𝟗, 𝟏𝟒 + 𝒍 𝟏𝟎, 𝟏𝟑  is equal to 
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#Q. Mean of 10 numbers is 5.5 and 

 σ𝒊=𝟏
𝟏𝟎 𝒙𝒊

𝟐 = 𝟑71

 If the observations 4 and 5 are replaced by 6 and 8 respectively, then the 

new variance is 
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#Q. If 𝑺𝒏 =
𝟏

𝟐
+

𝟏

𝟔
+

𝟏

𝟏𝟐
+…n terms. The sum of first six terms in A.P. With first term 

equal to −𝒑 and common difference 𝒑 is 𝟐𝟎𝟐𝟔. 𝑺𝟐𝟎𝟐𝟓. The absolute value of 

difference between 20th and 15th term is A.P is 
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#Q. Find the product of all rational roots of equation 

𝒙𝟐 − 𝟗𝒙 + 𝟏𝟏
𝟐

− 𝒙 − 𝟒 𝒙 − 𝟓 =3 is 
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#Q. If 
𝒅𝒚

𝒅𝒙
+

𝒙

𝟏+𝒙𝟐 𝒚 =
𝒙

𝟏+𝒙𝟐
; 𝒚 𝟎 = 𝟎, then 𝒚 𝟏  will be 
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#Q. If 𝜶 𝒂𝒏𝒅 𝜷 are real numbers such that 𝒔𝒆𝒄𝟐 𝒕𝒂𝒏−𝟏 𝜶  + 𝒄𝒐𝒔𝒆𝒄𝟐 𝒄𝒐𝒕−𝟏 𝜷 =

𝟑𝟔 and 𝜶 + 𝜷 = 𝟖, then 𝜶𝟐 + 𝜷  is 𝜶 < 𝜷  
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#Q. The area of the region bounded by 𝑺 𝒙, 𝒚  such that 

 𝑺 = 𝒙, 𝒚 : 𝒙𝟐 + 𝟒𝒙 + 𝟐 ≤ 𝒚 ≤ 𝒙 + 𝟐  is (in sq. units)
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#Q. Two persons A and B throws a pair of dice alternatively. For A to win he 

should throw sum of 5 before B throws sum of 8. If A throws first, then the 

probability that A wins, is 
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#Q. 𝒇 𝒙 − 𝟔𝒇
𝟏

𝒙
=

𝟑𝟓

𝟑𝒙
−

𝟓

𝟐
. If lim

𝒙→𝟎

𝟏

𝒂𝒙
+ 𝒇 𝒙 = 𝜷 . Find 𝜶 + 𝟐𝜷
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#Q. Evaluate lim
𝒙→𝟎

𝒄𝒐𝒔𝒆𝒄 𝒙 𝟐𝒄𝒐𝒔𝟐𝒙 + 𝟑𝒄𝒐𝒔 𝒙 − 𝒄𝒐𝒔𝟐𝒙 + 𝒔𝒊𝒏 𝒙 + 𝟒
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#Q. If 𝒂 = Ƹ𝒊 + 𝟐 Ƹ𝒋 + 𝟑෡𝒌, 𝒃 = 3 Ƹ𝒊 + Ƹ𝒋 − ෡𝒌 and 𝒄 is coplanar with 𝒂 𝒂𝒏𝒅 𝒃. Also 𝒂 ∙ 𝒄 = 𝟓 

and 𝒄 is perpendicular to 𝒃. Then 𝒄  is 
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#Q. If A is 𝟑 × 𝟑 matrix such that det(A) = 2. Then det (𝒂𝒅𝒋(𝒂𝒅𝒋(𝒂𝒅𝒋(𝒂𝒅𝒋𝑨))))
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#Q. The number of 3-digit numbers which is divisible by 2 and 3 but not divisible 

by 4 and 9.

JEE MAIN 2025 PAPER DISCUSSION

A

B

C

D

CVPS INTEGRATED STAR COURSE, MEERUT FOR MORE DETAILS CONTACT +91 9997000558



JEE MAIN 2025 PAPER DISCUSSION

Ans. (125)

CVPS INTEGRATED STAR COURSE, MEERUT FOR MORE DETAILS CONTACT +91 9997000558



#Q. If the 5th , 6th and 7th term of the binomial expansion of 𝟏 + 𝒙𝟐 𝒏+𝟒
 are in A.P 

Then the greatest binomial coefficient in the expansion of 𝟏 + 𝒙𝟐 𝒏+𝟒
 is 
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